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B.Com. (Part-lll) Examination, 2017
(Faculty of commerce)

(Tkree Year Scheme of 10+2+3)
ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT
Paper-li
(Business Budgeting)

Time Allowed: Three Hours
Max.Marks:100

Note: (l). Attempt any five questions in all, selecting one question from each Unit.

YT §FE ¥ TR T F TAA FA O, T GG A FH A 8

(i) No supplementary answer-book will be given to any candidate. Hence the Candidate
Should write the answers precisely in the main answer-book only.
et s wiemft # & sav-gfitas a@ & I e glenfiat & oy &F 3 qo
FeR-gfFaaE # & wEra A & s

(i) AY the parts of one question should be answered at one place in the answer-book. One
Complete question should not be answered at different places in the answer-book
B o TF WA & et g O RN Tl F 3 se-gfiae F s e W

F FA F T, TF & T W g HL
Unit-'I’

s
Describe the meaning, importance and limitations of budgeting.
Toea ¥ 7Y, Agca T At w1 ol fifaw

Or/ 3yar
A manufacturing company has a production capacity of 20,000 units per annum of production of
10,000units over a period. The expenses for which are given below -

ot zrd

Content. 40
Wages (50% variable). 20
Factory Expense (60% Variable), 10
Administrative Expense (Full Standing) 5

Sales and Distribution Expenses (40% variable), 5

Total cost. 80
Benefits. 20
Selling price, 100
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Make a flexible budget at the 70,90 and 100% activation levels. There is a possibility that the current selling
price will remain constant till 60% of the activity, after which a decrease of up to 5% Is expected up to 90%
activation level. Every 5 in quantity above 90%. 2% of the original price is required for the% increase. Also give
your advice regarding the flexibility of the more profitable activity level.

o FPmfor da-ft & Iaare= aman w2 10,000 gfAzE & Iz eman 20,000 gf3z g @) s g e
R Rg g & -

. wfar 3ord
ari 40
TG (50% W) | 20
&) &3 (60% ) 10
gemafia eag (guf wrd) 5
farcht ok faawor aaa (40% =) 5
He FPTA| 80
AT 20
a1 100

70,90 T&@ 100% fFarfierar ®R W 0@ dafla aw1e a=rgq Gl wvaen @ & e R 5ea 60%
foranefterar o R B, 39& agra 90% rarsiiaar TR a® 5% a% & FH & ader 81 90% & Fa A F
Tl 5% 3f & forg e $a & 2 wrle sdfla Roifdre ameras fraefiaa &R & 9o & Ty F s
g W e

Unit-‘It'

FFIE-

What do you understand by business forecasting? Discuss the principles of business forecasting.

rErEiyE @A & A9 w0 FAEEd § 2 amaitE e § Rguel w1 e fifaw

Or/ 3yar
Predict the sales for the four soldiers for the year 2016 with the rate per equation and seasanal indices given
below.
Trend Equation
¥1=360 + 64t
Where Y1 =360 + 64t Y, Annual Sales in thousands of Rupees
Origin=Year2010

T=1Year

Seasonal Indices
Quarter | I i v
Seasonal 108 103 88 101
Indices

T¢ 2016 ¥ R IR IAF F A Al F T 9 wohor IRk A IR F e &
€3 g

Y 1=360+64&

STET Y1 =360+ 64t Y, gART TqC & afds ffr

#e = 992010

T=1a¢
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Quarter [ Il i v
Seasonal 108 103 88 101
Indices

Unit-1IV

EwTE-1

3. What is a cash budget? Describe the various methods of making a cash budget.

VFT 43¢ 7 ¢ ? AF3 ¥oe oo & Rty Rt s aofs Ao

Or/ 3tyar
Calculate the following variance from the given numbers.
Product Budgeted Actual Budget Sales Actual Sales Standard
Qut.units Qut.units Price. p.u. Price pu. Cost p.u.
X 240 400 50 45 30
Y 160 200 25 20 15
(1)Net sales margin variance
(2)Selling margin price variance
(3)Sales margin volume variance
{4) Sales margin mixing variance
(5) Sales margin (sub-quantity) variance
o i gEat ¥ @ ferot ) o Hifso
Product Budgeted Actual Budget sales Actual Sales Standard
Qut.units Qut.units Price.p.u. Price p.u. Cost p.u.
X 240 400 S0 45 30
Y 160 200 25 20 15
(1) U Rl fda fverar
(2) mfsw e fa=Ror d=ar
(3) ffr afse mmr fR=oT
(4) fsfr S Rysor faragor
(5) fasfr afda (39-mmm) Ragor
Unit-"IV'
sEE-Iv

4. What do you understand by product mix? Which elements when choosing the best product mix
Are taken into consideration?

IoaTe fsor F T &7 TR §?7 gElEA 3o BT T 9T S AT e O @y
e # @ S 82

Or/ 3uar

(Material limiting factor) Following are the equations of a firm's three products XYZ.

Maximum capacity

Variable overheads
Selling Price

X
5,000 units

Direct Materials a 10/k | 40
Direct Labour a 3/kg 21

X15
100
20000

Y
2,000 units
10
16
%9
S0
15000

Zz

3.000 units

30
7
E R
60

10000
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Fixed Cost
{unavoidable)

Calculate the best product mix if the availability of raw material is 18,000 kg. limited to. Calculate the

contribution and profit.

(g A I AfaflE = o ¥ & 3=t xvz & T §
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Product X Y Z
Maximum capacity 5,000 units 2,000 units 3.000 units
Direct Materials a 10/k 40 10 30
Direct Labour a 3/kg 21 16 7
Variable overheads x15 9 3x
Selling Price 100 50 60
Fixed Cost 20000 15000 10000
{unavoidable)

R F=X AT Y 39FUAT 18,000 fFatmw ¢ & waEw o2 fAnor & o w1 T O
TIER o= #v deeEe AT anT)

Unit-"v'

-V
What does project planning mean? Financial and technical of a project Explain the feasibility

QRASHT AT & T 3T € ? UF SRS i AT od ST Jnenar @ T Ao

Or/ 374dr

The capital structure of MNP is as follows-

9% debentures = 100 total value per 27,50000
119% Priority share per price 100 total 22,50000
{Rama) Ordinary fraction (face value per 10 total). 50,00000
Total. 1,00,000,00

Additional Information:-

(1) The debenture is solvable at par and 2% of the face value is the issue expense and maturity of 10 years.
The present market value per debenture is Rs. 105.  https://www.pdusuonline.com

(2) Priority share is readable at par and 3% of the issue price and the maturity period is 8 years.
The present market value of the foregoing share is Rs. 108

{3) Issue of parity share is X 90 and present value is Rs. 24 Expected dividend expected is Rs. 2 per share,
In which the annual growth rate is expected to be 5%, it is customary to pay all earnings as dividends.
The corporation tax rate is 35%.

Calculate the weighted average cost of capital by weighting the market prices.

MNP &Y N FITaT 30 YR &-

9% fBd=T - 27,50000 W 100 Fef e

11% srufwar daw 9fe 7= 100 F& 22,5000
(X)) WrarRor 3w (37 F {7 10)1 50,00000 &
Fal  1,00,000,00
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sfafas serarin-

(1) FOTIT TR 9T AT ¥ AR e T 2% fortee sow g o 10 s Y oo
Y ¢ 9 RUNT FIAE AR {5 F9T 105 @

(2) TERFR 3 FAGeT W e @ e T 3T e & 3% vd e a8 A @
TERFR A F TIAA AT JoT TIC 108 &

(3) Wi wwar 3 PeAEA 790 W FAAW HED TUC 24 § WA FEmHT @ma T9v 2 9 v g
st aiftr Jefr &@X 5% Ta & FRET 3T F T F T 7 5T S A R §
foamsr &7 $r 2T 35% R
TSR {4 F7 AT A g G0 A 9T M\T aoa F7 RFa ffw
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